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الوزن والقوة

أسئلة

تدريبات

10th - general

عندك سؤال وحاب إجابة؟ تواصل معنا على التيلغرام

https://t.me/YourPhysicsCompass

عاشر - عام

فيزياء

https://t.me/YourPhysicsCompass
https://www.youtube.com/@YourPhysicsCompass
https://www.youtube.com/@YourPhysicsCompass


اڤۻ܎ال
Describe the apparent weight for an object

accelerating vertically upward or downward (starts
from rest, reaches a constant speed, then comes to a
stop)

(ਊಱڎأ ৙৑ݿڰܭ أو আॻ༟৙৑ راݿ٭؇ ཯ྥފ؇رع ྾ཏ੊ࠍ اܳޙ؇۱ݠي اܳިزن لݱژ
اܳފܝިن) ሌᇿا لݱܭ ปฆۋ ཯ྥٴ؇ޗ؊ - ۰ਐಸ؇ٔ ۰༟๤๎ื ౫౜దݠك اܳފܝިن ݆݁

١
If your mass is 75.0 kg and you are standing on a
household scale inside an elevator that starts from rest,
accelerates upward at 2.00m/s2 for 2.0 s, and then
continues at a constant speed. Will the scale reading
during acceleration be greater than, equal to, or less
than the scale reading when the elevator is at rest?

݁ݱأڎ. دا༠ܭ ሒᇿ଩଍݁ ଩ଃ݁ان আॻ༟ وّگژ .75.0kg ঺঒ܹٺ۹ Ⴄ၍ن إذا
ৎ৊ڎّة 2.00m/s2 ஓ୾گڎار আॻ༟أ ሌᇿإ اৎ৊ݱأڎ ྲྀྥފ؇رع اܳފܝިن، ݆݁ ً؇دل۰
اܳྥފ؇رع أ਍ು؇ء ا଩ଃৎ৊ان ڢݠاءة ّܝިن ۱ܭ .۰ਐಸ؇ٔ ۰༟๤๎ื ૭૏ٺ݄ݠ દّચ 2.0s
ل۰ ݁ފ؇و أو اܳފܝިن ᄭᄟ؇༡ ሒᇭ اৎ৊ݱأڎ لܝިن ؜ٷڎ݁؇ ا଩ଃৎ৊ان ڢݠاءة ݆݁ ଫଊأ܋

ዛዊ݁؇؟ أڢܭ أو ؇ୖ୒

٢
When the elevator goes down with uniform
acceleration (1.2m/s2), how does the person
standing on a scale inside the elevator feel?

྾ངීෂا ۋފص واܳྥފ؇رع اܳگިةّ ඔ൹ً اܳأఈఃڢ۰ ؜݆ ଫଊّأ اܳٺ؇ܳ٭۰ اܳأఈఃڢ؇ت أي
༃ّިࡵৎ৊ا ሒᇃ؇اܳٴ٭

ً وزَ؇ أۊژ أَّ۬ ݿ྘ލأݠ
lighter. feels He

ً وزَ؇ أٔگܭ أَّ۬ ݿ྘ލأݠ
heavier. feels He

وزَ۬. ً؇َأڎام ݿ྘ލأݠ
weightless. feels He

.ଫଃّ؞٭ ً؊ي ૰૏أݠ ݆ܳ
dffierence. no feels He

١



٣
Salem weighs (840N ) and has a mass of (84Kg) on
Earth. What would its weight and mass be on the
moon? (g(Earth) > g(Moon))

ݿ٭ܝިن ቕመ ا৙৑رص. ݿޚں আॻ༟ (84Kg) و঺঒ܹٺ۬ (840N) ቕረ؇ݿ ߌ߳ن
(g(Earth) > g(Moon))اܳگ݄ݠ؟ ݿޚں আॻ༟ و঺঒ܹٺ۬ وزَ۬

اڤܙزن:
840N ݆݁ أڢܭ

Less than 840N:႞႖೏ಧاڤ
84kg ݆݁ ૭૜؇وي
Equal to 84kg

اڤܙزن:
840N ݆݁ ଫଊأ܋

Greater than 840N:႞႖೏ಧاڤ
84kg ݆݁ ଫଊأ܋

Greater than 84kg

اڤܙزن:
840N ૭૜؇وي

Equal to 840N

:႞႖೏ಧاڤ
84kg ݆݁ ૭૜؇وي
Equal to 84kg

اڤܙزن:
840N ݆݁ أڢܭ

Less than 840N:႞႖೏ಧاڤ
84kg ݆݁ أڢܭ

Less than 84kg

٤
A person who normally weighs 700 N is riding in
a rather swift elevator that is moving at a constant
speed of 8 .9 m/s. If this person is standing on a
bathroom scale inside the elevator, what would the
scale read?

.9.8m/s ۰ਐಸ؇ٔ ۰༟๤๎ื ౫౜దݠكّ ݁ݱأڎ ܋ߵص ߌ 700N وزَ۬ ෛஙݧ
ا଩ଃৎ৊ان؟ ڢݠاءة ؇݁ اܳݱ݄أڎ، دا༠ܭ ଩ଃ݁ان আॻ༟ اܳލۛݧ وڢژ إذا

ً وزَ؇ أۊژ أَّ۬ ݿ྘ލأݠ
Exactly 700N

ً وزَ؇ أٔگܭ أَّ۬ ݿ྘ލأݠ
More than 700N

،દગިਃ಻ 700 ݆݁ أڢܭ أو ଫ଒أ܋ لܝިن ڢڎ
ل଩଍ل أم لݱأڎ اৎ৊ݱأڎ Ⴄ၍ن إذا ؇݁ আॻ༟ ا؜ٺ݄؇داً
It could be more or less than 700 N,

depending on whether the elevator is going up or down

.ଫଃّ؞٭ ً؊ي ૰૏أݠ ݆ܳ
Less than 700N

٢



اڤۻ܎ال
Classifies forces into contact forces and field forces
and realizes that they result from the mutual influence
of causes.

݆݁ ོྡྷٺھ ؇ዛኡأ وࢴࣖرك ෠੼؇ل وڢިى ఈఃّ݁ݴ ڢިى ሌᇿإ اܳگިى لݱٷژّ
اৎ৊ފྟٴ؇ت ඔ൹ً اৎ৊ٺٴ؇دل ଫଃٔ؊اܳٺ

٥
Classify the following forces

into contact forces and field forces:
The force exerted by the Earth on the Moon

- The force exerted by a player when
throwing a ball - The force of a child pulling
The force of air resistance on moving objects
- The attraction of a magnet to a piece of
iron - Normal force - Frictional force

ո൑৭ل: وؓܙى ୹୴ׂڲۥ ؓܙى ᅽᅰإ اڤ׫ոڤמ١ اڤؠܙى ۝ר؉
ሒᇭ اఈዳዧ؜ص ؇ዛኞ لޝߜߵ มฆܳا اܳگިة - اܳگ݄ݠ ሒᇭ ا৙৑رض ؇ዛኞ ّިߜߵ มฆܳا اܳگިة
ڣ٭۬ ᄎცٺۜݠৎ৊ا ఋዳዧۏފ؇م ا୒ୖިاء ݁گ؇و۰݁ ڢިة ޗڰܭ ො஖ص ڢިة ாணة ሒᇧر
ا৖৑ۋٺႤၽك ڢިة اܳأ݄ިدل۰ اܳگިة ༡ڎࢴࣖ ܳگޚأ۰ ݁؞ٷ؇ޗ྘ݴ ༥ڍب -

෠੼؇ل ڢިى ఈఃّ݁ݴ ڢިى

٣



اڤۻ܎ال
use the characteristics of interaction pair and identify
the action-reaction pairs for different situations.

ෛ੼ٺܹڰ۰. ݁ިاڢژ ሒᇭ اৎ৊ٺٴ؇دل ଫଃٔ؊اܳٺ أزواج ۊިاص لݱژ

٦
1.Draw a free-body diagram of the forces acting

on the bucket.
2.Identify an action-reaction pair in the diagram.

3.If the mass of the bucket is 5 kg
what is the magnitude of the tension

force in the rope?

.ިܳᄴᄟا ሒᇭ اৎ৊ޝߜߵ اܳگިى ෛ੼ޚޔ ྾ངار .1
.႟ၽاܳލ ሒᇭ ݁ٺٴ؇دل ଫଃٔ؊ّ زوج ༡ڎد .2

اࠍ੆ٴܭ. ሒᇭ اܳލڎ ڢިة ݁گڎار ؇݁ ،5kg ިܳᄴᄟا ᄭᄥ঺঒ ೑಻Ⴄ၍ إذا .3

٤


